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PART-Il (¥T1-2)
SCHOLASTIC APTITUDE TEST
AP emar gdigon

Questions : 91 to 180

1

Q91. In the figure, the blocks A,B,C of | %91 PR T esa A B e ABICH |
mass m each have accelerations TR BN a,, 2,9 a, ¥ AR BT TSAF,

a,, a, and a, respectively. “F,” and FIF, HIAA BT 2 mg Amg B, T4
"F," are external forces of

magnitude 2mg and mg

respectively.
|
i m - |
A B C
m m m
& ¢ FFM i 2m m
F.=2mg i 2m m
i F,=mg
F,=mg

(1) a,=a,=a,
(1) a=a;=a, (2) a,>a,>a,
(2) a>a,>a, (3) a=a,a>a,
(3} a1=a:—-az}as (4} ai}az‘azzaa

(4} aT}aZ| 32=a3

Q92. A block rests on a rough floor. A | w93 w
horizontal force which increases T wE T et v amgeen ¥

: s ; AU D T R R
linearly with time begins to act .
on the block at t=0. Velocity v is IPHTg I!éilﬂmﬁﬂmt'w i
plotted against 't'. Which of the W= 0 s AT s

given graphis correct. Eﬂﬁﬁﬂ'ﬂﬁmﬁﬂﬂ TR 11 WY

NP I S R ?
(1) ]/ (2) D (1) 4 (2) 4 |
v v v f
T e - / W J . f
(3) [ 4) (3) 4 ‘ @) 4 v

/ j e |
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Q93. Two men of unequal masses hold
on to the two sections of a light
rope passing over a smooth light
pulley. Which of the following are

possible,
N
é &

If the lighter man is stationary, the
heavier man will slide up with
some acceleration.

If heavier man is stationary, the
lighter man will climb up with some
acceleration.

Two men will slide with
accelerations of the same
magnitude in opposite directions.
All of the above

(1)

(2)

3)

(4)

Q94. With increase in temperature,
match the following two columns.

column 2

p will increase
q will decrease
will remain
unchanged
may increase
or decrease

Column 1

a density of water

b upward thrust

¢ fraction of solid r
floating in a liquid

d Apparent weight s
of solid immersed
in water

e Time period of
spring pendulum

a-q, b-r, c-s, d-s, e-p
a-p, b-s, c-q, d-r, e-q
(3) a-s, b-p, c-s, d-q, e-s
(4) a-s, b-s, c-s, d-s, eT

(1)
(2)

W93 I — ST g5 B 2 i wim
ARz R I AR w®
wed g ¥ fr= 3 ¥ P 0 Rufa

Wl

(1) oft o weme o @fda frm A A @
a9 T @1 Al Y @0 H FR
el

(2) af fde wemm o @l frm A A @
7 TEWH B AW TY @0 W FHW
T3

(3) < eafad T & REm B @R A AT
farodra feem s v

(4) SRE@wEA

W94 AT 4 IR FTA R IBEH 173 BAH 2 -
1 wyfaa e =t

B 1 BT 2

a Y9I g™ p & HATTM

b ST q FHE QM

¢ WANIRAT r PEIREGETAEM
IHIAM

d UFMASAEUSN s T@IUAECH
BT ATAT AR RiC Tk

e fOMaHH

SIeA Bl

a-q, b-r, c-s, d-s, e-p

a-p, b-s, c-q, d-r, e-q

a-s, b-p, c-s, d-q, e-s

a-s, b-s, c-s, d-s, e-r

(1)
(2)
(3)
(4)

'\

W
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y
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Q95. Heat is supplied to a substance

wos B @i NP @ AT

in solid state at constant rate. o ) 77§ ¥ ST AT A
Its temperature varies with ﬁmﬁm.mmmt'
time as shown in figure.

T("C), T(°C),

> {(s) _ > 1(s)
Match the following two columns STeT 19 BIem 2 H TR e a
Column 1 Column 2 B 1 BTt 2
a Slopecoflineab p.dc a Y@lab®TAA p dc
b Lengthof linebc q.cd ard
c Solid + liquid r. directory b Ymrhed) 9«
state proportional c SMATAIEA r TAAAD
to mass  SFHAAH
d Only liquid state s. inversely d daeaEg@e s aegdfalre
; proportional T B GEHHTIIRN
to specific heat { SR TS

of substance
t. none of these o g TR
1) a-s, b-r, c-t, d- oy Bk B, B
1?2} a-t, b-r,s c-q dcit (2) at, b-rs c-q d-t
(3)a-s, b-st c-q d-s (3) a-s, bstcq d-s
(4) a-t, b-r,t c-t d-t (4) at b-rtct dt

. 96 feETgar aftuy o1 geu ufora qun I
R fRRiade Fin)

Q96. Equivalent resistance of the
system and potential difference

across the external resistance in 0
thefigure. R ANMAV
—AWWW—
A D B
AT S —ww ; B
(1) ro E T (1) ro
(2) r,E (2) rE
(3) oE (3) G.E
' R
(4) & (4)n &
—_———————————————————————— — -"—'—"'—'_'—_"_—_-——__._——-—""
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@97. An object in placed in front of a
concave mirror of local length 'f
as shown in figure. Choose the
correct shape of image.

a—C
b—d
y o &b

(2) (4)

Q98. Match the following

Column 1 Column 2

a. Convex mirror, p) Real image
virtual object

b. Concave mirror, q) Virtual image
real object

c¢. Concave lens, r) Magnified image
real object :

d. Convex lens,  s) Diminished
real object image

(1) a-gq,s b-p,q,s c-qr d-p,qrs
(2) a-q b-p,q,s c-q,r d-p,q.r

3)a-s b-p,q,s c-q,s d-p,q.r.s
(4) a-p,q,r,s b-p,q,r,s c-q.5 d-p,ars

%97 ' v g0 @ swad TV P WP

forarepae v g vl T ¥ wfefiey @
Wi s ) fre Rl S el

a C

b—d

b dr C d
(1)

(3)

d__ b’ a’__c
C’ a-’ b.r d!

(2) (4)

W.98 ®fem 13 %lem 2 A wyfera fram

PicTd 1 P 2 W

a 9vd g, p arwifds wfafa=
AT A9

b add gy, q s wfafas
EISIEE |

c 3add o, r ge1ufafs
RATAD T

d Suddd, s DI
EUSIEEELS|

(1) a-q,s b-p,q,s c-q,r d-p,q,r.s

(2) aq b-pg,s c-qr d-p,qr

(3) a-s  b-p,q,s c-q,s d-p,q,r,s

(4) a-p,q,s b-p,qrs c-qs d-p,q.r.s
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In question 99 and 100, a statement of

assertion “A" is given and is followed by a

corresponding statement ofreason “R”

Choose the correct answer among following

(1) Ifboth assertion and reason are true,
reason is the correct explanation of
assertion.

(2) If both assertion and reason are true
but reason is not the correct
explanation of assertion.

(3) assertionistrue reasonis false.

(4) assertionsisfalse andreasonistrue.

Q99.

A. Anelectric bulb becomes dim
when an electric heaterin parallel
circuitis switched on.

R. Dimness decreases aftersome
time.
Q100.

* A. Electric potential of a positively

charged body can be negative.

R. The potential of aconductor does
not depend on the charge of
conductor.

Q-101. Abi-convex lens of local length
'f" it is cut into plano convex

wv+ e 99 TE 100 # U 9A (A) T
Sua1aa (R) Rarwn el

T wE S uiiey)

(1) T T 7 o <1 S & aaT @ T A
e =T TR Bl

(2) A U 3 9 2 S B TR qD, TA
1 W8 ST T8 B §

(3) T W ¥ IR 7 W8 e B

(4) TEA w8 T ¥ Uvg TE A

¥.99

A @ R 7 @ g IRy 93 U
g Sl sl A R A < Ao 8l

R oI W9Y D 1S T8 7S B9 &9 Bl W &1

H.100

A % gRRTE 9% @ gy R sorers @
BT E

R % 9reid ol fawd, areid & mavT R AR
e B |

T 101 PEagq T @ @ SRNa o 9l
PEPX [E WA BEE g D

Iens;s nf;qualfocal Iengt:_ TR S e T
; ow these are arranged in :
: three ways as shown. 31§ ferarga < Rafera 4
E The ratio of combined focal ““Tq’fﬁﬂ?' fomam T
' length is D! TYT BB N Bl 31'-3141?—1‘@111|
\
(1 1:1:11 (2) 1:211 (1) 11111 (2) 121
(3) 1:1:2 (4) 2:1:1 (3) 1112 (4) 211
—— = — = e

34
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Q-102. Three person A,B,C of masses
60 kg, 50 kg and 40 kg
respectively are climbing with
rope in upward and downward
direction as shown in figure.
The tensionin the rope atrigid
supportis:-

[y
A{BO Kg) i P
4

Ry

s

2ms’

I
B(50 Kg) b i
v

i

[ —
k

ims”

T —

Ciad Kg)
i

760N

1360N
1620N
1580N

(1)
(2)
(3)
(4)

Q.103. What is the oxidation number
of sulphur in peroxy mono
sulphuric acid (H,SO,) ?

Q.104 OnelLitreofagasatSTP has
mass equalto 1.25g.Thegasis
(1) H,
(2) O,
(3) N,
(4) CO,

7.102 60 f5am., 50 f5m. wd 40 M. 3
= =fm AB v C @ W #

¥ 9y ug o o ¥ v i
) SR 2 e R T T
4
m@g .
14
B{Sﬂﬂglg | 2ms’
qmgli | s
(1) 760 =gea
(2) 1360 =ea
(3) 1620 =geA
(4) 1580 geA

103 Rafad A weqRE TRE (H2S0s) |

H weev ) iz vemr sk ?

(1) 8
(2) 6
(3) 5
(4) 4

%104, WAXIA N MBI AN T
T TARAR 125 TR ¥ -
(1) H,
2) O,
@) N,
(4) CO

\G_————=======
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Q.105 Electron affinities of OS, F
andClareinthe order :-
(1) O<S<F<c]
(2) S<O<CI<F
(3) S<CI<O<F
(4) S<O<F<C)

Q. 106 Fullerence, an isotope of
carbon contains :-

(1) 30 Six membered rings

(2) 24 five membered ringsand 10
six membered rings.

(3) 12five membered rings and 20
six membered rings.

(4) 18 five membered ringsand 15
six membered rings.

Q.107 ThepHof10’M HCISolution is
(1) 7
(2) Between6and7
(3) Between5and6
(4) Between7and8

-Q.108. 100 gm of an aq. solution of
sugar contains 40% sugar by
mass. How much water
should be evaporated to get
50% sugar solution by mass?
(1) 10g.

(2) 20g.
(3) 0.0g.
(4) 404g.

Q.109 The percentage by mass of
cation in ammonium
chromate will be (At. mass of
Cr=52,N=14, 0=16).

(1) 13.4%

(2) 30.4%

(3) 25.7%

(4) 23.7%

%105 0,8,F 3l CI ) ¥TCH Wy
AN
(1) 0<S<F<Cl
(2) S<O<CI<F
(3) S<CI<O<F
(4) §<Q<F<Cl

W 106 mﬁm

AT -

) sowegaftn

) 24 vayw R 3% 10 ge9w fim
3) 12 vee R 3R 20 veyw fin
4) 18 v R 3R 15 veqw Ry

[ o R

— — — p—

%107 10"M HCIfdea®1 pHY
(1) 7 :
(2) ediR7HE
(3) s3Reddm™
(4) 73RsHaw

W 108 100 W ¥ 3% ar @ fisror 3 i)
T AR 40% ¥ fasern oy andram
A SR WG s Rsror F W waw
50% TEWIC ?

(1) 107m

(2) 207mM

(3) 0.0um

(4) a0wm

%109 IR wrte ¥ e s @1 TN
® FTAR vfirera & (vwemoy A Cr= 52
N=14,0=16)

(1) 13.4%
(2) 30.4%
(3) 25.7%
(4) 23.7%
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Q.110 Empirical formula of a
compound is CH,0. Its vapor
density is 30. The compound is :-
(1) Ethanoicacid.

(2) Methyl Methanoate
(3) Ethanal
(4) Both1and2.

Three elements A,B and C
have atomic number Z-1,Z and
Z+2 respectively. B is a noble
gas. The compound between A
and C will be :-

(1) CA,

(2) CA

(3) CA

(4) CA,

Q. 111

" Q.112 The distribution of electrons in
different shells in the element
with atomic number 25is :-

(1) 2,8,15

(2) 2,18,5

(3) 2,8,13,2

(4) 2,8,8,7

The IUPAC name of
(CH,),C-OH is:-

(1) 2-Methylpropan -2-ol.
(2) 2-Methylpropan- 1-ol.
(3) 1,1- Dinethel ethanol.
(4) Butan-1-ol.

Q113

Q114 Reproductionmivision is a
property of following
(1)  Meristem
(2) Cuboidal cells

(3) Embryocells
(4) Undifferentiated cells

W 110 wmmmqﬂcﬁptl
¥E®! AT T 30 % 7% A
Al

(1) s9za S
(2) fhaz«

(3) &

(4) 13R2<

W 111 SAAEIAB,C B UHIY IS AL -
z-1.zmz+2t|mswm*m
¥ A 3 B T@ C ¥ P w I
- -
(1) CAz
(2) CA
(3) C2A
(4) CAs

w112 T w R wwaw] wem 25 ¥, P
AR il 3 g B ARl
B -

(1) 2,8,15
(2) 2,18,5
(3) 2,8,13,2
(4) 2,8,8,7

(CH,), C-OH®TIUPAC T ¥ -
(1) 2 —fhega WiA-2—-sie
(2) 2 - fhenga wE-1-30d
(3) 1,1 - SHEfAAE T
(4) e 13

We 113

o 114 wor [RaoE Fra s o ?
(1) e 89 ara sad
(2) EFTER BIRTEHN
(3) HOTBBIRTBTY
(4) sfAfmHRmEY
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Q115 Which of following diagram
depict early telophase-|.

M= maternal homologue
P = paternal homologue

Q116 Verylong length of small
intestine is co-related with
following food habit.

(1) Herbivory
(2) Carnivory
(3) Omnivory
(4) No correlation indicated

Q117 Colostrum (first milk from
mother breast) provide
following type of immunity
(1) Passive
(2) Active
(3) Innate
(4)  Non Specific

Q118. Kidney's primary function is
(1) Excretion
(2) Osmoregulation
(3) Regulation of body's pH
(4) Removalofurea

W 115 Frer % 4 e o e
e ¥l

M g o
P gy

W 116 BIE) i B i T, Py
o wer ) do R @ anigyy

W 117 WA (A D a8 W frwen v
) = v Y v I e e
TEAY?

(1) g=

(2) wmrE

(3) STTera

(4) faRrs=am

W 118 uq‘fmgmmt
(1) S
(2) YRRA U o) sy v Fra=w
(3) YRR pH = & <1
(4) IR R Y e Py
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| Q119 Solubility of gases decreases

with increasing temperature.

This property is helpful to

human being during

(1)  Healing of injury

(2) Running

(3) Exercises

(4) Meeting body's energy
requirementand in all the
above conditions.

Q120 Ribosome is presentin both
eukaryotic and prokaryotic
cells, it infers thatribosome is.
(1)  Necessary for protein

synthesis
(2) Amembrane lessorganelle
(3) Independent of nucleus
(4) Meeting body's energy
requirementin all the above
conditions.

Q121 Considerfollowing chemical

reaction

Light

6CO,+12H,0 GW”CEH,EO;SO;SHEU

CO, is oxidized to glucose.
CO,is reduced to glucose
H,Ois oxidized to O,
H,0is reduced to O,
which answer is correct.

(a)
(b)
(c)
(d)

(1) a&d
(2) b&c
(3) bé&d
(4) a&e

w119 WH ol B A WA
Fum T ¥ T o
wRRuffeRRefal i e ¥
(1) deddwmad
(2) S EI
(3) @AM DEd
(4) SrRrgm w4 aRRafEl 3 TR P

ot amgfel A |

W 120 WA, e 3 gRRae I
TR BiftreEl A suRaa Bm k?
= Fienae:

(1) TEUER TS o Ted &

(2) maxo e HiRTEm A

(3) dud A

(4) JuRram it gemai 3§ R A S
JravaE 6 gfd ¥

»121 frreerPerawaaai@y?

W
6CO,+ 12H,0 Ty C,H,.0,+60,+6H.0
(a) CO, JU=d B @I A a8
W

(b) CO, 3JTaq BT TIdI H qqc
W g

(c) H,0 39ad &H% O, # aaal WTell &

(d) H,0 ST= &&= O, ¥ e Wl &

PAFI TN R &

adrd

baRc

bafrd

adirc

(1)
(2)
(3)
(4)

W

39

Scanned by CamScanner



Q122 RQ (Respiratory Quotient) of
fatsisless than1because
(1) C:Oratioisless
(2) C:Oratiois more
(3) C:Oratioissame
(4) Fatsgive more energy than
proteins and carbohydrates

Q123 Evolution of monocots is an
example of
(1) Retrogressive evolution
(2) Progressive evolution
(3) Parallel evolution
(4) Mega evolution

Q124 Underlight microscope 3types
of simple permanenttissue are
distinguished on the basis of
property of .

(1) Cellwall

(2) Sapvacuole
(3) Function

(4) Cellorganelle

Q125 Find outwrong statement
(1) Everytestcrossisaback
Cross.
(2) Human'sintelligenceis
quantative
(3) Lossoftailinhumanis
evolutionary trend
' (4) Mendel's laws are not
universal.

e 122701 31 ¥& PRI (Quotient) ey
TAE
(1)
(2)
(3)
(4)

C:0 BT AU FH &

G:0 &1 IUTH =18
C:0 1 I IRAR g
w1, BATEESC dUeHq
sfFewi e

ST §

(1) wed T famra &
(2) Tea g AT
(3) THTTR 6 &
(4) v fawra o

T 124 WG GEAST A 3TE B WHIRY
vard SAE! B S 1 SR IR Ry
THEA g
(1) wifdre R
(2) Vo
(3) o
(4) HRTHEM

We 125 oI T BT T94 BIAY
(1) WP X BRI 96 A &
(2) W ¥ v Ao
(3) W4 H B &1 & &1, A
Remm sl
(4) Hea D frgmadfE e &

ll
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Q126

o oam2 s (B2 . [s2z

1542

thenthe value of N is

1) 22 -1
(2) 2
3) 1
(4) 0

Q127 If(a-5)+(b-c)'+(c-d)"+(b+c+d-9)’=0,
then the value of
(atb+c)(b+c+d)is

(1) 0

(2) 11
(3) 33
(4) 99

Q128 A cubic polynomial p(x) is such
that p(1)=1, p(2)=2, p(3)=3 and
p(4)=5.

Then the value of p(6) is

(1) 16
(2) 13
(3) 10
(4) 7

Q129 If x+y+z=1,
then 1-3x’-3y’-3z"+2x’+2y’+22’ is
equal to
(1) 6xyz
(2) 3xyz
(3) 2xyz
(4) xyz

Q130 Ifx*"=(x")’, then p=

(1) qv
(2) 1

(3) q°
(4) go

W 126

Ll'E+2 + JE—.? - JS-ZE

I5+2

fe N=

TANBIHA R
(1) 2J2 -1
2) 2
(3) 1
4) 0

w127 AR (a-5f+(b-cf+{o-d)+{b+crd-9)=0,
®, T (a+b+c) (b+c+d)is T AAY

w128 T Prard age p(x) TR Y &

p(1)=1, p(2)=2, p(3)=3 3 p(4)=5,%1

W p6)BIAFAEY
(1) 16
(2) 13
(3) 10
4) 7

w129 AR x+y+z=1,W,
A 1-3x°-3y*-327+2C+2y*+27° ARy
(1) 6xyz
(2) 3xyz
(3) 2xyz
(4) xyz

W 130 IR "= (") ¥ p=

(1) qe
(2) 1
(3) ¢

(4) g

W

—
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Q131

Q132

Q133

Q134

Ifsin@andcos 0 aretheroots
ofthe equation ax*+bx+¢=0,
then

(1) (a-c)+c'=b’

(2) (a-c)-c'=b*

(3) (a+c)y+c’=p*

(4) (a+c)y-c'=b’

The sum of real values of y
satisfying the equations
X'+Xy +xy'=525
X+Xy+xy'=35 is

(1) 15

(2) 10
(3) 572
(4) 372
Ifa,b,c and d are natural

numbers such thata®=b®, ¢’=d",
and d-a=61, then the smallest
value ofc-bis

(1) 61

(2) 122
(3) 239
(4) 593
One of the sides of a triangle is

divided into line segments of
lengths 6cm and 8cm by the
point of tangency of the incircle
of the triangle. If the radius of
the incircle is 4cm, then the
length (in cm) of the longer of
the two remaining sides of the
triangleis

(1) 12
(2) 13
3) 15
4) 16

w131 f sin @ 3l cos@, wawor
ax+bx+c=0B A E, T
(1) (a-c)+c'=b’
(2) (a-c)-c=b"
(3) (a+c)+c’=b’
(4) {a+c)‘-c‘=b

o 132 Wﬁf%}(’y"ﬁx’y‘ =525
x+xy+xy'=35 D N PR AAy B
AR A BT AT E
(1) 15
(2) 10
(3) 5/2
(4) 3/2

W 133 AR a'=b’,c’=d", T d-a=61R, M cb
B _ATH T §
(1) 61
(2) 122
(3) 239
(4) 593

%o 134 51 Bryet 31 v on oo simga

wei g 7w 6 . o 8 ¥, A
T T R Y g e @
o ¥R SN g A Brom 4 0 e A
A < omell F N 7t qon A T
AR

1) 12
(2) 13
(3) 15
4) 16

42
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Q135 Inthefiqure, ABIIDC,AD>BC,
and DC:AB=k, where k>1.The
ratlo (AD*-BC’) : (DB'-AC’) Is

@)
(4) ¥4

Q136 Inthe figure AD=DB, BE= 3 EC,
and CF= % AF.Ifthe area of

AABC=120 cm’, the area (incm’)
of ADEF is

(1) 21
(2) 35
(3) 40
(4) 45

Q137 The circumference of the
circumcircle ofthe triangle formed
by x-axis, y-axis and graph of

3x+4y=12is:

(1) 3 munits
(2) 4 nunits
(3) Smunits

(4)  6.25 units

M—__

w136 amygft, AB Il DC, AD>BC #Y
DC : ABsk, ¥, ol k>1%1 SrFam

(AD"-BC?): (DB*-AC")¥I

(1) 1.

(2) X
(3) &
() ‘5

W 136 SR AAD=DB, BE= 5 EC, 3%

A

B C

(1) 21
(2) 35
(3) 40
(4) 45

(1) 3ng@Eal
(2) 4 n goTEal
(3) 5 ngwrEAl
(4) 6.25 gorZal

43

CF =3 AF%1af% AABC %1 8wl
120 9P 8, W ADEFm1drwa ¥l

W 137 x- &4, y- 354, AN 3x+dy=12% ow
R frfia Bryor 3 vy aRf ¥

y
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Q138

In A ABC, £A=100°, ZB=50°,
AH | BC,BMis a median and
MH is joined. Then ZMHC =
(1) 15°

(2) 30°

(3) 45°

(4) e0°

Q139 A circle is inscribed in an

equilateral triangle of side
‘a’ em. The area (in cm?) of a
square inscribed in the circle is
(1) a¥6
(2) a¥3
(3) 3a%4
(4) a*¥12

Q140 In A ABC and A DEF,

.
Il.

Il
v

AC=BC=DF=EF, length AB=2FH,
where FH L DE. Which of the
following statements is (are)
true?

ZACBand £ZDFE are
complementary
ZACB and ZDFE are

supplementary
Areaof AABC=Areaof ADEF

Areaof AABC=1.5x(Areaof ADEF)

(1) Honly
(2) INlonly
(3) landlllonly
(4) landlllonly

e 138 g A ABC #, ZA=100°, 4:3-.50‘

()

We 139

He 140

Il.
(.
IV.

|

AH L BC, BMWmﬁmtdeH

%! foreman T ¥l 9 LMHC =
(1) 15°
(2) 30°
(3) 45°
60°

Hon 'a' ﬁ'ﬁlﬂlﬂﬁﬂﬁﬂl@ﬂ'ﬂﬁ*
mﬂawqawwmﬂ%mﬂa
™ o @ dEed (W F)

a’l6

a3

3a%/4

a*12

(1J
(2)
(3)
(4)

AABC 3R A DEF %, AC=BC=DF=EF,
AB=2FH g FH L DE ¥I Fr1 i e
WP AT TAE(E)?

ZACB3IR /DFEQ®E

ZACB 3R /DFE UqX® &

AABC &1 &83%cl =A DEF &1 &5%d

A ABC &1 8%d =1.5x (A DEF @l
S Awe)

g ||
wad |
dad | 3R 1|
@ad |1 37 111

(1)
(2)
(3)
(4)
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Q141 If a,a,....... ,a,, are the first 19

terms of an AP and
ata,+a t*a =224,

w141 R a,8,....... a,, frd v Ao @

gy 19 vx w5 atw
ata,ta, +a,=224

19
then % 8 isequalto g Ii a ARACEI
(1) 896 (1) 896
(2) 1064 (2) 1064
(3) 1120 (3) 1120
(4) 1164 (4) 1164

Q142 The surface water in a 142 5 aeoRIA (swimming pool) % IR

swimming pool forms a %) 998 was sz ¥ e F=ng
rectangle of length 40m and 40 At oy e 15 9 1o o Teerd
breadth 15m. The depth of water W*Wﬁ!ﬂ‘{ﬂi BN O% 991 WY
increases uniformly from 1.2m ATARI2N A 24 A B o ki
at one end to 2.4m at the other e % gt e () ¥

end. The volume (in m’) of water

inthe poolis (1) 1080

(1) 1080 (2) 720

(2) 720 (3) 600

(3) 600 (4) 540

(4) 540

Q143 Iftan A + secA =2, 0°<A<90°, the | 143 If¥ tan A+ secA= 2, 0°<A<90° &1, &l

value of cos A lies between cosA T foet wemali b A
(1) 0.7and0.9 (1)  0.73R0.9
(2) 0.7and0.8 (2) 0.73R08
(3) 0.8and0.9 (3)  0.83R0.9
(4) 0.5and0.7 4)  0.53R0.7

m
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Q144 Foyr natural numbers are given.
Select any three of them and
find their mean. Add this mean
to the fourth number. If the
Numbers so obtained are
29,2321 and 17, then one of the
original numberis
1 17
(2) 21
(3) 23
(4) 29

Q145 First 'a' is chosen at random
from the collection of numbers
1,2,3,.....99,100 and then 'b’ is
chosen at random from the
same collection. The
probability that the integer 3* +7°
has a unitdigit8is

(1)
(2)
(3)
(4)

e

NNy

Q146 What is the meaning of this
French word "Lecitroyen"
(1) Thepeople

(2) The Citizen

(3) Resident

(4) Allabove

e

46

T 144w Wi WeaG A T ¥yt

L
k| T AT Frarorgy
4 o 4 i g 1 oy
W 29, 23, 21 3R Wm“h
oS A S EE

(1 17

(2) 21

(3 23

(4) 29

W 145 WAl B WK 1,23,...99,100 §y |
e 'a' ATST G SR ¥ s Ry
RS AN D' IS Y oy
s 3°+7° % yorf w1 sim e WA oy |
Wi ¥

ol

(1)
(2)
(3)
@ 1

W 146 T Wi v o s P AR e
=t -ARER

Gy

RS

A

SURIET T

00—

&l

|
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Q147

Q148

Q149

Q150

Q151

Chief Minister cavour who led

the movement of unification of

Italy was a

(1) Freedom Fighter

(2) A revolutionary

(3) A democrat

(4) NeitheraRevolutionary nora
Democrat

Town planning in Bombay was
aresult of fear of :

(1) Social revolution

(2) Plague Epidemic

(3) Fire

(4) Over Crowding

Who among the following is the
author of the novel "Hard
Times"

(1) LeoTolstoy

(2) Thomas Hardy

(3) Charles Dickens

(4) Samuel Richardson

The majority peoplein
SriLanka follow the religion :
(1) Hinduism

(2) Christianity

(3) Islam

(4) Buddhism

The first Jute Mill in Calcutta
was founded by

(1) Dwarkanath Tagore

(2) Dinshaw Petit

(3) Seth Hukum Chand

(4) G.D.Birla

W 147

T 148,

We 149

W 150

W 151

yor v S R el
v B areaer 1 e R
e 3 & =R o -
(1) waa=al A

(2) TF wifa@nl

(3) @ woa= @l

(4) A IaH AR TATA

s W Pt 3§ 4 s e
-

(1) s wif<|

(2) < HEMRI S BRI

(3) B FRU

(4) Icmire o (SaE)
Earul

w0 2T ST 1 ST e
APy -

(1) eneEeea

(2) g

(3) et o=

(4) dmopa Refewm

fdm 4 st am =i dfra
i S o ¥ -

(1) R

(2) woged

(3) ARemed

(4) drged

fre 3 e wermm vl o
fravfmd

(1) BERSTASIR

(2) femmada

(3) WogwE=
(4) oSl fARen

w

g
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Q152 The shis

l =
| France
Us

\3)  Englang
Germany

Q153 The civil disobedience
Movement began with the event

of :

(1) Haral

(2)  Shop Pickings
(3) Fast

(4) DandiMarch

Q154 In which film the heros buddy
sung the song "Ai dil hai
mushkil jeena yahan, zara hatke
zara baachke, ye hai bombay
meri jaan.

(1} CID

(2) GuestHouse

(3) RajaHarnshchand
(4) Pyasa

Q155 How many Theses Martin Luther
wrote
(1) Sixteen
(2) Sixty
(3) EightyNine
(4) NinetyFive

Q156 "Political Science begins and
ends with the state™ who had this?
{1} Sheeley
(2) Garner
(3) Laski
(4) Leecank

W 152

153

w154

W 155

W 156

W 3w SR
ﬁ!ﬁl’ﬁ!‘l‘ﬂ‘!ﬂl:— mﬁq
(1) w=a=

(2) TSI ey

(3) ®d(39am)

(4) =€1amn

mﬁﬁﬁmimﬁmmm'i
T B yfdaf md -

AR v iAo s
TR TE DA AR AR T

(1) D,

(2) rewEew

(3) eneReas

(4) ==

e e e e s
foreii

(1) weE

(2) wme

(3) <=0

(4) o=

WO VITER oy @ W e B
¥, 3 o0 @ g wea e ¥ 1
o ek ?
(1) ¥
(2) TR
(3) o=
(4) formim
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Q157 Which of thefollowing unitthe | w157 R AR wwrmsTEATHY

organ of the government (1) e arferm
(1) Legislature (2) worfsaad
(2) Political Party (3) wrdutferam
(3) Executive e
(4) Judiciary (+)

Q158 Which of the country has the w158 =171 9 Ry dwr o Wit aiférfe
unwritten constitution |
(1) China (1) 9=
(2) France (2) ww
(3) Britain (3) fir=
(4) Japan (4) wmm=

Q159 Which ofthe followingisnotthe | w159 Rrqddemuca=@it
state (1) wfram
(1) Pakistan (2) o=«
(2) Israiel (3) swmmtreEm

(3) Afganistan

(4) Rajasthan (4)

Q160 Which ofthe followingis correct | w160 Fr=3%wra? el

about India (1) e i gl
(1) Indiais union state (2) "RaTEwEaR

(2) Insisfederal (3) "rRavEHIREat
(3) Indiais confederation (4) SRTAADE 78

(4) Noneofthe above.

Q161 Name the first woman speaker w161 Sreew 6 aweh witen sum ™

of Lok Sabha. R

(1) Mamta Banerji (1) e ETei
(2) MeeraKumar (2) Arrgad

(3) Shushma Swaraj (3) gomww=
(4) VijayRajSindhia (4) faormRiftrn

m
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Q162

Q163

Q164

- Q165

Q166

Which of the following state

does not have bicamral
legislator

(1) up

(2) Bihar

(3) Jammug Kashmir
(4) Gujrat

What was the subject of
Sarkaria Commission?
(1) Election Reforms
(2) LandReforms

(3) Tax System

(4) Centre State Relation

Which country has the smallest
constitution in the world

(1) China

(2) USA

(3) Brazil

(4) SouthAfrica

JMM is the political party of
which state.

(1) Orissa

(2) Arunachal Pradesh
(3) Jharkhand

(4) Bihar

Inindia after independence
which major portwas
developed first

(1) JawaharLal Nehru Port
(2) KandlaPort

(3) Vishakhapatnam Port
(4) MumbaiPort

W 162

e 163

W 164

W 165

W 166

Frer 3 8 e T A R v gy,
uiftr 8 ¥

(1) SRR

(2)faer

(3) T BTAR

(4)ToRTd

wewRa S T Rvg wqqp?
(1) g7 gur

(2) ¥ gaR

(3) TR HoTeR
(4)FFavEEH

T S oy W e v
¥

(1) 4=

(2) 3R

(3) A

(4) <féror rbie

:mmmmmmm
|

(1) S€rm

(2) sroomes w2

(3) svgue

(4) fmr

mﬁﬂiﬁm—m#m

W TR P v v e
e ?

(1) v ae sl
(2) srEeITEH|

@) RvmaETTEa)
@) T=Eqwa)

...d
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Q167

Q168

Q169

Q170

Q171

W

Fatile block soil useful
sugarcane and cotton crops is
produced by breaking of which
rocks ?

(1) Basaltrocks

(2) Arenaceous rocks

(3) Granite rocks

(4) Obsidian

Which one of the following
industries user bauxite as a raw
material.

(1) Electronics

(2) Cement

(3) Aluminium

(4) Steel

Out of the following which
clouds give morerain?
(1) Cumulus

(2) Cumnlominimbus
(3) Nimbostratus

(4) Cirrostratus

which one out of the following
is a'Kharif crop'?

(1) Maize

(2) Wheat

(3) Gram

(4) Mustard

Adelegation is coming froma
country whose land boundary
does not touch India.
Recognise that country.

(1) Bhutan

(2) Tajakistan

(3) Bangladesh

(4) Myammar

51

e 167

e 168

e 169

w170

w1

T S T B waal @ forg e
YT wren e s el @ e
ARk ?

(1) WwTec ¥ |

(2) e W ETE) ¥l |

(3) W ¥

(4) SreAfET

frafafe 4 € d=—woum
weTye 3 T WE @ W ¥ 99
wen ¥l

(1) woEgad

2) b=

(3) vegfafrm

(4) FwE

Frafaftm 4 ¥ o o waa aftre
wmrRk? |
(1) ®9=N

(2) wuTh

(3) wuiw

(4) OE™ -

Pt 4 4 -6 v vaa
e fE?

(1) wa

(2)

(3) =

(4) wwEl

v firevisata v sy,
orereht vz S e | 78w
Wﬂ'ﬂﬂm:—

(1) *em

(2) e

(3) dahaRY

(4) wMR
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Q172

Q173

Q174

Q175

Iifyoutravelina straightline
from Rajasthan to Nagaland
then which one river out of the
following you will not cross.
(1) Yamuna

(2)  Sindhu
(3) Brahamaputra
(4) Ganga

Out ofthe following statements
which one is not right about
82 30' E longitutude.

(1) Thisis standard meridian of
India.

(2)  Thelocal time of this
meridian is 5.30 hours
ahead of greenwich.

(3) This meridian passes
through Andhra Pradesh.

(4)  This meridian divides India
into two equal parts.

Out of the following which
mountain was formed first ?
(1)  Vindhyachal

(2) Aravali
(3) Satpura
(4) Nilgiri

Which one out of the following
revers does not enter Ganga
on its left side.

(1) Chambal
(2) Gointi
(3) Ghaghra
(4) Kosi

W 172

W 173

We 174

We175

afy &ra v i e ¥ vorgp,

ﬁqﬁﬂl’ﬂ#ﬁﬂﬂ%ﬁﬂ““m

Afi v 7

(1) 937

(2) frg

(3) wergd

(4) T |

mﬁﬂmmmarau. ;

gl e A S g ?

(1)  TEARA B S TR ¥y
&l

(2) 9@ B I G My
WA N 5:30 U0 M |

(3) B W 3T WY1 A oIl &)

(4) TEXWI2AVI P Q) AR A7
afed &l

Preferfea 3 @ fve v fwfw
WA I g ar?

(1) fRamma

(2) 3R

(3) ways

(4) ek

et 3@ P S ) T
R hi e ?

(1) ==«

(2)  TH

(3) =M™

(4) R
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Q176 Match column 1 with column 2

Column 1 Column 2

| Availingdetailsof ~ a Righttosafety.
ingredients ofa

product.

i Agmark b Certification of
edible oiland
cereals

i DistrictConsumer ¢ Rightto

Court information
iv Bureau of d Dealing with
Indian Standard. consumer cases.
v Accidentdueto e Global Level
faultyengineina institution of
Scooter. consumer
welfare
organization.

vi Consumer f  Agencythat

International, develop standards
for goods and
services.

(1) c¢bdfae

(2) becdaf

(3) «cb,edaf

4) b,d,cefa

Q177 Whichis the mostappropriate
answer for the classification of
sectors into private and public?
(1)  The nature of economic

activity.
(2) Numbers of the workers
employed in the enterprise.
(3) Ownership of enterprises.
(4) Employment conditions.

W 176  &TeTd 11 GBIt 2 A e By

BT 1 TeTH 2
(i) SwmE¥ (a) gu& B
Wﬂ'ﬁlaﬁw JfrrR|
ST o
(i) TR | (b) @A A 4
3Tl B
wHTfoTa|
(iii) ToTen s () HE B
BId| PRI
(iv) IR AT (d) ST AHA
| 1 Ao
(v) FRRB I (e) freawada
T S FROY ELCICS)
g HeTo] He1 |
(vi) SRR STHigE  (f) avqgaii @ danail
P AS fAeivor
T T A1 |

(1) c,b,d.fae
(2) b,e,c,d,a,f
(3) c,b,edaf
(4) b,d,c.efa

W 177 B I HE ¥ ? P T wverd
(wTdSit+e ) & 3t afes @ farg:
(1) e fFm @ wsr)
(2) FETA TR P )
(3) ST R AR sifreR|
(4) IR Reafergi|
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Q178 InasHG (Self Help Group)
Important decisions In regard

to loan and savings are taken

by : '

(1) Gowt, organization,

(2) Bank

(3) Non-government

organization
(4) Members

Q179 Which one of the following
actlvities can be included In
primary sector.

(1)  Giving loans to the farmers.
(2)  Making sugar from
sugar cane
(3) Providing storage facility for
the grains.
(4) Cultivating sugarcanes.

Q180 Which of the followingis an
example of working capital
(1) Tools
(2) Machine
(3) Building
(4) Raw Material

m—— e —

We 178

We 179

We180

WWW(SHG}'!“HM
T T ot 7 g
Gk ¥

(1) A®IR T

(2) &

(3) Ir—wvaTd v

(4) e EN|

frriferfara % 9 o @ 1RRR o

(1) frarl o o =

(2) THAEAN T

(3) e o forg el ) i
FUEE B

(4) A AR TN

mﬂmmmﬁm
FETET R

(1) Suzw

2) =

(3) ¥waA

(4) wemwTH
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